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Supplementary Figure 2. Responses of different bistable models to transient inputs.
Left column (A,C,E,G) received LTP input as in Supplementary Figure 1. Right
column (B,D,F,H) received LTD input after having settled into active state following a
1 uM cAMP stimulus for 2000 sec at the start of the simulation. A, B: Model 1.
Neither stimulus causes a state change. CaMKIl is not bistable in this model, so it
does not have a high state. C, D. Model 4. Neither stimulus causes a state change.
E, F. Model 5. Neither stimulus causes a state change. G, H. CaMKII bistability
(Model 3). LTP stimulus switches CaMKII on only for the case where the entire PKA
pathway is modeled, including CaM-activated AC. The LTD stimulus failed to cause
a state change in any of the models.



